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QUESTION 1

Which of the following rule types can be used to evaluate multiple property values and, as a result, return a text value
defined in the rule?

A. Decision Tree
B. Constraints

C. When Condition
D. Validate

Correct Answer: A

QUESTION 2

A single flow can contain multiple End shapes.
A. True

B. False

Correct Answer: A

QUESTION 3

Review the following diagram:

OverLimit,10%
Else,30% " Escalate
Escalate
UpdateﬂalmCumpjleE :
M B R

If the WithinLimit SmartShape references a Fork, which type of connector is OverLimit?
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A. When

B. Always

C. Status

D. Flow Action

Correct Answer: A

QUESTION 4

Validate rules may be specified in which one of the following rule types to validate the properties displayed on the user
interface?

A. Flow Action
B. Section

C. Harness

D. Flow

Correct Answer: A

QUESTION 5

Which types of relationships can a work cover and its covered items have? (Choose two.)
A. One-to-One

B. One-to-Many

C. Many-to-One

D. Many-to-Many

Correct Answer: AB

QUESTION 6
A local list is defined for a property. Which HTML property rule is used to create a selection list for this property.
A. PromptFieldValueLocalized

B. GetLocalizedValue
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C. PromptSelect
D. SmartPrompt

Correct Answer: C

QUESTION 7

Which of the following is a functional requirement?

A. The application will not be available to external users

B. The applicaton will support 5000 concurrent users

C. A user cannot move to the next page until all required fields are entered
D. The system will balance users between two nodes

Correct Answer: C

QUESTION 8

Select two statements from the following list which are true concerning work pools. (Choose two.)
A. They directly correspond to class groups

B. A user may have access to no more than ten work pools

C. A user\\'s default work pool is established in the user\\'s access group

D. They are created by Work Pool rules

Correct Answer: AC

QUESTION 9

Which three are standard party-related classes? (Choose three.)
A. Data-Party-Person

B. Data-Party-Group

C. Data-Party-Operator

D. Data-Party-Com

Correct Answer: ACD
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QUESTION 10

Given the following Work Parties rule,

Rale Party l'_lun - Party Prompt Hoadel VOE? -P:rquin-d i
1. Customer Data-Party - Cuslomer Cutlomer el aultd ustomer = =
2. Originator Data Party Operator Operalor CurrentOperator £ r
3. Interested Data-Farty-Person NowyRarty 5 r

Which role(s) display(s) by default when a user creates a new work object?
A. Customer only

B. Customer and Originator only

C. Interested

D. Customer and Interested only

Correct Answer: D

QUESTION 11

Name three ways that correspondence can be generated from a work object during a flow. (Choose three.)
A. When an operator processes an assignment by choosing the local action called Send Correspondence
B. When the work object reaches the End shape

C. When the work object reaches an assignment with a Notify task attached

D. When the work object reaches a utility containing the CorrNew activity

Correct Answer: ACD

QUESTION 12

When a section is updated, all Harness rules using that Section rule must be opened and saved.
A. True

B. False

Correct Answer: B
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QUESTION 13

The Application Explorer displays which rules?

A. All of the rules in PRPC

B. Rules in a workpool/class group and its associated work classes
C. Only rules you have worked on since logging on

D. Only rules you have worked on in the last 7 days

Correct Answer: B

QUESTION 14

Two or more comparisons can be placed into a single row in a Decision Table rule using multiple "OR" conditions.
A. True

B. False

Correct Answer: A

QUESTION 15

Select two statements which are true about likelihood values associated with flow actions within a flow rule? (Choose
two.)

A. Likelihood values are automatically computed and adjusted within a flow by the system based on end user behavior
over time

B. A likelihood is an integer between 0 and 100
C. Likelihood values stemming from a single flow assignment must equal 100%
D. Likelihood values determine the presentation order of flow actions to the end user on a Perform form

Correct Answer: BD
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